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1	Decision/action requested
[bookmark: _Hlk64897434]Include the proposed changes in TR 28.827.
2	References
[bookmark: _Hlk83628987][1]		3GPP TR 28.827: "Study on 5G charging for additional roaming scenarios and actors"
3	Rationale
Adding solution on using NRF in clause 7.5 for key issue #5d.
4	Detailed proposal
	First change



[bookmark: _Toc119867948]7.5.4.x	Solution #5.x: Using NRF to find H-CHF and A-CHF
[bookmark: _Toc119867949]7.5.4.x.1	General
A possible solution for key issue #5d, finding the correct CHF for solution #5.1 where V-CHF communicates with the A-CHF through the H-CHF.
Editor’s Note: The solution #5.1 where H-CHF communicate with A-CHF through V-CHF is FFS.
[bookmark: _Toc119867950]7.5.4.x.2	Reference architecture
The reference architecture would be the same as in solution #5.1 clause 7.5.4.1.
[bookmark: _Toc119867951]7.5.4.x.3	Message flows
The V-CHF would in this case use the NRF provided service to find the H-CHF, the selection can be based on any available attribute such as SUPI, CHF group, etc., where the H-CHF would be registered in the NRF. The H-CHF would in this case use the NRF provided service to find the A-CHF, the selection can be based on any available attribute such as SUPI, CHF group, etc., where the A-CHF would be registered in the NRF.
[bookmark: _Toc119867952]
	Second change



7.5.y.7	Solution #5.y: Using NRF to find H-CHF and local configuration to find A-CHF
[bookmark: _Toc119867953]7.5.4.y.1	General
[bookmark: _Toc119867954]A possible solution for key issue #5d, finding the correct CHF for solution #5.1 where V-CHF communicates with the A-CHF through the H-CHF.
Editor’s Note: The solution #5.1 where H-CHF communicate with A-CHF through V-CHF is FFS.
7.5.4.y.2	Reference architecture
[bookmark: _Toc119867955]The reference architecture would be the same as in solution #5.1 clause 7.5.4.1.
7.5.4.y.3	Message flows
The V-CHF would in this case use the NRF provided service to find the H-CHF, the selection can be based on any available attribute such as SUPI, CHF group, etc., where the H-CHF would be registered in the NRF. The H-CHF would in this case use the SUPI e.g., SUPI lists, IMSI number series, to find the A-CHF. In this case the A-CHF address would be pre-provisioned in the H-CHF and allocated for example to a SUPI list or an IMSI series.

	[bookmark: clause4]End of changes



